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37184 u&gs 43,969 43,315 654
1,03 &% 29,935 27,715 2,220
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4. [Z]AF-SALE- 1,700 2,000 -300
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1. 05390 2,000 1,750 250 | 42 A Al =L 0 70,0009 %57 = 350,000
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2. A5G| 1,750 600 1,150 | k5t sl o o] @ -100,00091+13]= -100,000
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1. a5 3hAb3-d 9,625 8,625 1,000
RN DI R Rt R 4,300 3,300 1,000
1. 0 H| 4,300 3,300 1,000\ ZF9REFTY ¢ 111,110999 «13]= 1,000,000
5.u%01 JhA 17,019 6,541 10,478
LI=] %34 /) 17,019 6,541 10,478
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RAF 27179 250,0009) #6Th+13]= 1,500,000
4. [=mal[z]eJgquSdze5 8,100 0 8,100
18] 8,100 0 8100 gi%@“jrﬁ%““i L 14117090 X174 X1 2,400,000
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6.3FaL Quke-of 117,262 117,177 85
1.8 w713 &9 34,733 43,383 -8,650
LE-A71 239 19,255 27,305 -8,050
T[] gHED 8,000 8,550 -550
1.99H 1,200 1,750 =550 | Fh ] Eedn] 1 25,0009« 11 #223] = -550,000
2. =189 7,205 9,705|  -2,500
3.93H] 1,875 4,375 -2,500 | T & &7olH] @ -25,0009 %58 #203]= -2,500,000
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2. A1 ) A 80,329 71,594 8,735
1.8 A A ] H A 80,329 71,59 8,735
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